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A complex QualityStage job is running slowly on a two CPU server. The parallel engine
configuration file contains eight nodes.
 
 
How can performance be improved?
 
 
A. Reduce scratch space in configuration file. 
B. Increase scratch space in configuration file. 
C. Reduce number of nodes in configuration file. 
D. Increase number of nodes in configuration file. 
 

Answer: B

 

 

Which match type would you use to perform a "fuzzy" match for a field containing many un-
parsed words (such as a comments field)?
 
 
A. CNT_DIFF 
B. PRORATED 
C. MULT_EXACT 
D. MULT_UNCERT 
 

Answer: C

 

 

Which acronym is also referred to as CASS?
 
 
A. AVI. 
B. GEO. 
C. MNS. 
D. US AC. 
 

Answer: D
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Which statement is true regarding QualityStage data survivorship?
 
 
A. Survivorship is used to create groups of duplicate records. 
B. The Survive stage is used to mark records as possible duplicates. 
C. The Survive stage is used after matched record groups have been identified. 
D. The Survive stage can be used to correct and identify unhandled data from the
Standardize stage. 
 

Answer: C

 

 

Which statement is true?
 
 
A. Complex Boolean survivorship rules are permitted. 
B. The first defined survivorship rule takes precedence. 
C. Complex fuzzy matching survivorship rules are permitted. 
D. Blank fields are automatically dropped from survivorship consideration. 
 

Answer: B

 

 

When would you use the survive technique 'Most Frequent'?
 
 
A. When more than one target field is required. 
B. When the most frequent occurrence is required. 
C. When the most frequently populated value is required. 
D. When the most frequently populated value is required with two or more occurrences. 
 

Answer: D

 

 

Given the following input:

Question No : 4

Question No : 5

Question No : 6

Question No : 7
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Which two override options would ensure that records 1. 2, 4, and 5 would be in the same
match set?
 
 
A. Agreement weight 
B. Both missing weight 
C. Data missing weight 
D. Disagreement weight 
E. Reference missing weight 
 

Answer: C,D

 

 

How can Word Investigation reports be used to modify a rule set?
 
 
A. Corrects spelling errors in the data field. 
B. Adds tokens to allow identification of additional duplicates. 
C. Identifies new tokens to allow additional words to be classified. 
D. Identifies matched words to be used in match designer frequency distribution. 
 

Answer: A

 

 

When reviewing the results of a Match job you notice that some records are not included in
a match group.
 
 
Which option would you review to determine why the records are not matching?
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